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� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
��� ����
 �� �	���
 Γ(1) � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
��� ����
 �� �	���
 Γ0(4) � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  

����� �	�����
��	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  
����� !�������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "

��� #
� $�	�
� �������	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��% !�������� ��	 �
� $�	�
� �������	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��%�� ����
 �
� &��
�	� ��' ���
�
� �(�

 $�
����
 �������	
 � � � � � � � � � � � ��
��%�� #
� )�	�� 
� �
� �*�
� �(�

 $�
����
 �������	
 � � � � � � � � � � � � � � � � ��

� 
� �����	
 �
 ������ ��
��� ����
 �
 �� $�
����
 θ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
��� #
� ��	�
� �(+��

��
�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �,
��� #� $�	���
 �
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��.	
 �
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� �(��	�	
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	 ��
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 ����

�
 4 ��		��� -���.� � 	����� �
 �	�.���
 &
	� 1830� ����
� r4(n) �
 
��.	
 �
 ������������
� �

�(

��
	 n 

 ����
 �
 4 ��		��� #� $�	���
 �
 -���.� 
�� 3

r4(n) = 8
∑
d|n
4�d

d.

#
 .�� �
 �
� 
'���� 
�� �
 ��


	 �

 ����
��	����
 �������
 �
 �� $�	���
 �
 -���.� ��	
�

 ���4��
 ���
	

� ��� �
	�
� �
 ���� �(�.�

�	 �
 ����&��

� 
'������
 ���
� n �

� &
	�
�(�
�
� �� 
��.	
 �
 $�2�
� �(��	�	
 �(

��
	 n ����
 ����
 �
 d ��		��� �&
� d � 4�
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	� �
 0 0 12� ���������.�
� �� 
�
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 ����
 �
 ��		���

6 � � � � % �  " , �6 �� �� �� · · ·
��		�� �(

��
	� � � � � · · ·

����
� �
 2 ��		�� � � � � � � � � � · · ·
����
� �
 3 ��		�� � � � � � � � � � � � � � · · ·
����
� �
 4 ��		�� � � � � � � � � � � � � � � · · ·

1
 	
��	��
 ��
 �
� �	
��
	� 

��
	� ������$� �(��	�&

� ���� ����
 ����
 �
 � ��		�� �(

��
	�
7���  

 �(��	�� ��� ����
 ����
 �
 � ��		��� 1
 ���� �
�

��
� ��	����	��
	 �
� 
��.	
� ���
�(��	�&

� ����
 ����
 �
 � �� � ��		���

'(���)�
 � *�
��� + #�	
�,- �� ������ ������	 n 
��
��� 
���� 
���� �� � 
����
 
� ��

��	����� 
� 	� ��	������ vp(n) �
� ����� ���� ���� p �������� p ≡ 3 ��� 4�

�����
�������� #(����������


N : Z[i]\{0} → N∗

a + ib �→ a2 + b2


�� �

 
�	�
 ������������&
 ��	 �(�


�� Z[i] 8 ��
 ����
 Σ 
�� �(

�
�.�
 �
� 

��
	� n ���
�(��	�&

� ����
 ����
 �
 �
�' ��		��� #(

�
�.�
 Σ 
�� 

 ��	������
	 ���.�
 ��	 �������������
�
94
	�4�
� �(�.�	� �
� 

��
	� �	
��
	� ����
 �
 �
�' ��		���

�� p 
�� ����
 �
 �
�' ��		��� p ≡ 0, 1 �� 2 mod 4� :� 
�� ��
� ���� 0 2 �� .�

 ≡ 1 mod 4�
7�
�	�
� �� 	����	���
�

1
 � ��������
�

� 2 ∈ Σ� �������
� ��
� ��
 p ≡ 1 mod 4� ;��	� −1 
�� �
 ��		� ������
p 3 −1 ≡ a2 mod p� 
� p |a2 + 1 = (a + i)(a − i) 8 �(����� (p) 
�� ��
� 
��
����	
�

� 	������.�
 �


� p = xy �&
� x, y ∈ Z[i] ��� 

 ��
� ��� �
� �
����� ���� N(x) �= 1 
� N(y) �= 1� 1	 N(p) = p2 =
N(x)N(y)� /�
� p = N(x) = N(y) ∈ Σ�

1
 ��
���� �� ����
��	����
 �� �4��	��
 

 ���������
� n 

 $���
�	� �	
��
	� 3 n = Πpvp(n)�
�������
� n = a2 + b2 ∈ Σ� �� p ≡ 3 mod 4� ���	� p �∈ Σ 
� (p) 
�� �		������.�
� 1
 � ��
�
p |n = (a + ib)(a − ib) ��
� p |a + ib �� a − ib� 1	 p = p̄ ��
� p |a + ib 
� a − ib 
� p2 |n� 1

��
���� ���	� �� ����
��	����
 ��	 	���		

�
 �
��

��
�
�

#
 	������� ���&�
�� ���� �������� 	
���
 ��	 �
 ������������
 �
� $�	�
� ����	�����
� 	����


��
�


 3 &�	��.�
� <�$� =�
		
>?�

���������� 	
� �������
 Z[i] ��� �
������� �
��	
��
������� ��� 	
� ���� ��
��� ���������� �� ��������� Z[i] ����
�� ���� ����������

�



'(���)�
 � *.��/,- �� ������ ������	 n 
��
��� 
���� 
���� �� � 
����
 
� �� 
��	����� 
�
�	 ���
� ��
 �� 	� ����� 4a(8b + 7) ���
 a, b ∈ N�

#(
'���

�
 �
 �(����.	
 �
� ����
	
��
� �
	�
� �
 ��
�	
	 ���� $����
�

� �
 �4��	��
 ���&�
��

'(���)�
 � *
�0���0
,- ���� ������ ������	 
��
��� 
���� 
���� �� ������ 
����
 ���������

���	 d, n ∈ N� ����
�

rd(n) = Card
{
(n1, n2, . . . , nd) ∈ Zd : n = n2

1 + n2
2 + · · · + n2

d

}
.

9(
�� �
 
��.	
 �
 ������������
� �
 n 

 ����
 �
 d ��		��� :� ������
 �� �4��	��
 � ��
 ���	
���� n, d ∈ N �&
� d � 4� rd(n) � 1�

!
��	���
� ��
 �� ���
����
 �
 rd(n) ��

� �����
 �
 �(�	�	
 �
� ����

�� �
 �� ������������

�
 n 

 ����
 �
 d ��		�� ��
�� ��
 �
� �������
� 
�����&
��

#�
��	
- @	����
� �
 ��� �
 n = 12 3 �
� ��&��
�	� �
 12 ��
� 1, 2, 3, 4, 6, 12� 9
�' ��� 

 ��
� ���
�
� �������
� �
 � ��
� 1, 2, 3, 6� #� $�	���
 �
 -���.� ��


 ��
� r4(12) = 8 · 12 = 96� 5�	���
�
�
 	������� 

 
'�������
� �
� ,� ������������
��

#
� ��		�� ���&�
� �
�
	&

�	 ��
� �� ������������
 �
 12 ��
� 6���� 
� ,� #
� 2 �
��
� $�2�
�
�(��	�	
 12 ����
 ����
 �
 4 ��		�� ��
� 12 = 9+1+1+1 
� 12 = 4+4+4+0� #
� ����

�� �
 Z4

��
� �
 ��		� �����	�
 �
 9 
� �	��� 1 ��
� {(±3,±1,±1,±1), (±1,±3,±1,±1), . . .}� :� A 

 � 4 · 24�
#
� ����

�� �
 Z4 ��
� �
 ��		� �����	�
 �
 0 
� �	��� 4 ��
� {(0,±2,±2,±2), (±2, 0,±2,±2), . . .}�
:� A 

 � 4 · 23� 1
 � ��
�� �	��&� 4 · 23 · (2 + 1) = 12 · 8 = 96 ������������
��

;�
 �(�����
	 �
� rd(n)� �
 �
�	����� �� ��	�
 ��
�	��	��


φd(q) =
∞∑

m=0

rd(n)qn.

:� �
 �	��&
 ��
 �
� ��	�
� φd �
� �
� �A���	�
� ��	����
��
�� ��� &�
� 
��� �
	�
��	
 �
 �
�
	���	�	
� ��
 �(�.�

�	 �

 
'�	
����
 �
 rd�

� �� ����
� ��� ���
��� ������
���

��� �����	��
 ��
������


����
� H �
 �
�� ���
 4A�
	.�����
 <�� �
��B���
 �
 ���
��	�?

H = {z ∈ C : Im(z) > 0}.
����
�

Γ(1) = SL2(Z) = {
(

a b
c d

)
∈ SL2(R) : a, b, c, d ∈ Z}

Γ0(N) = {
(

a b
c d

)
∈ Γ(1) : N |c}.

���� 
��
	�
� Γ �
 �	���
 ���� 0 Γ(1) �� 0 �
 Γ0(N)�

#
 �	���
 Γ(1) ���� ��	 H ��	 4����	��4�
 3

γ · z =
az + b

cz + d
�C z ∈ H 
� γ =

(
a b
c d

)
∈ SL2(Z).

#(�����
 �
 γ ∈ Γ(1) 

&��
 .�

 H ��
� H ��	 Im(γ · z) =
Im(z)
|cz + d|2 �

�



%
���1�
- �� � ���
� ��� �
���� �� PSL2(Z) = SL2(Z)/{±1} 
�� H ���
��� 	��
���� �� γ ��
������ ��� �� 
� 
	�

� ���
 PSL2(Z)�

2�3�� ��� �- ���� γ =
(

a b
c d

)
∈ Γ �� z ∈ H� �� ��
�

j(γ, z) =
(

dz

d(γ · z)

)
z

= (cz + d)2

������� ��� 4- �� ���
���� j ������ 	���������

j(γγ′, z) = j(γ, γ′ · z)j(γ′ · z)

�����
�������� ��	�	
 j(γ, z) =
(

dz
d(γ·z)

)
z

� �������
	 �� 	���
 �
 ��	�&����
 ���	 �
� $�
����
�

�������
��

2�3�� ��� �- ���� k ∈ N� �� ����		� ���
���� ��� 	����� ����	���� �� ����
 2k ���� Γ �����
���
���� ��������!� f 
�� 	� ���� �	�� H� ��		� ���

∀γ ∈ Γ, f(γ · z) = j(γ, z)kf(z).

#� ���
����
 �	����

�
 ���
��
 ��
 �� $�	�
 f(z)(�z)k 
�� ΓB�
&�	��
�
� �(
��B0B��	


∀γ ∈ Γ, f(γ · z)(�(γ · z))k = f(z)(�z)k.

#� �	��������
 % 	

� �� ���
����
 ��4�	

�
 ��	

f((γγ′) · z) = j(γγ′, z)f(z) = j(γ, γ′ · z)j(γ′, z)f(z) = j(γ, γ′ · z)f(γ′ · z) = f(γ · (γ′ · z))

���� f �

 $�
����
 $��.�
�

� �������	
� /(��	�� �� ���
����
 ��������
 0 γ =
(

1 1
0 1

)
� �


� f(z) = f(z + 1)� 1
 �
�� ��
� ��	�	
 f ����
 ����
 �
 �� ��	�
 �
 D��	�
	 <�$� ;


'
 ;?� 
�
�(
'�	��
	 ����
 $�
����
 �
 q = e2iπz� ��
 
��� 
��
	�
� f̃ 3

f(z) =
∑
n∈Z

cne−2πnye2iπnx

f̃(q) =
∑
n∈Z

cnqn.

#� $�
����
 f̃ 
�� ��	���	�4
 ��
� �
 �����
 |q| < 1 �	�&� �
 �(�	���

 ��	 f 
�� ��	���	�4

��	 H 
� ��
 z �→ e2iπz 
�� �����
�

� .�4�����	�4
 
� 

&��
 H ��	 �
 �����
 �
��� �	�&� �

�(�	���

�

2�3�� ��� �- ���� f ��� ���
���� ��� 	����� ����	����� �� f̃ ������ 
���� ���
�������� 
�
���	��"� �� ��� ���
���� ��������!� #��
�� !�	�����!�$ % 	����"���� �� ��� ��� f �
� ��������!�
#��
�� !�	�����!�$ % 	�������

9
�� ���
��
 ��
 f̃ ���
� �
 ��&
����
�

� �
 #��	

� �� &����
��
 �
 �(�	���

 3

f̃(q) =
∑
n∈Z

cnqn

�C �
� cn ��
� 
��� ���	 n ���
) �
��� <	
��� ���	 n < 0?�
#�	���
 f 
�� 4�����	�4
 0 �(�
�
�� �
 ���
 f(∞) = f̃(0)� �(
�� �� &��
�	 �
 f 0 �(�
�
��

%



−2 −1 1 2−1/2 1/20

ρ

S

STS ST ST

T T−1

−1 −1ST  S

1

TST  S
−1

���� � E /����

 $�
���

��� �
 Γ(1) 
� �
� ����
� ��	 ��
���
� ����

���

��� ����� �� ������ Γ(1)

���

� S 
� T �
� �����
� �
� ����

��

(
0 −1
1 0

)

�

(
1 1
0 1

)
�
 Γ(1)� 1
 � �
� 	
�����
� 3

S2 = 1, (ST )3 = 1.

���� D �
 ����B

�
�.�
 �
 H $�	�� �
� ���
�� z �
�� ��
 |z| � 1 
� |Re(z)| � 1/2� ���� ����
�
��
�	
	 ��
 D 
�� �
 ������� ����������	 �
 �(�����
 �
 Γ(1) ��	 H� +
 �(���	
� �
	�
� 3

'(���)�
 5- &� ���� ���� z ∈ H� �	 �'�
�� γ ∈ Γ(1) ��	 ��� γ · z ∈ D.

�� �����
��
 ��� ���' �����
 ��
���
�
 z, z′ ∈ D 
����� 
��"��
 ����	� Γ(1)� �� � �	��
 z ∈ ∂D�
�� �	�
 ���
�
������ 
��� Re(z) = ±1/2 �� z′ = z ± 1� 
��� |z| = 1 �� z′ = −1/z = −z.

�� ���� z ∈ D� �� 
��� I(z) = {γ ∈ Γ(1)/{±1} : γ · z = z} 	� 
�� �	�
����� �� z ���
 Γ(1)/{±1}�
�� � I(z) = {1} 
��� ���
 	�
 ����
 
�
 
������
 (
) z = i� �����	 
�
 I(z) �
� 	� "����� ������� � ��"����� ��� S *

) z = ρ = e
2iΠ
3 � �����	 
�
 I(z) �
� 	� "����� ������� � ��"����� ��� ST *

) z = −ρ� �����	 
�
 I(z) �
� 	� "����� ������� � ��"����� ��� TS�

�����
�������� ���� Γ′ �
 �	���
 

�

�	� ��	 S 
� T � ���� ����
� ��
�	
	 ��(�	 �'�
�� γ′ ∈ Γ′

��	 ��� γ′ · z ∈ D� �
 ��� ����
�	
	� �(���
	���
 &� �� �4��	��
 "� �� γ =
(

a b
c d

)
∈ Γ′� �
 �

Im(γ · z) =
Im(z)
|cz + d|2 . <�?

9���
 c 
� d ��
� 

��
	�� �
 
��.	
 �
 �����
� (c, d) �
�� ��
 |cz + d| ���� �
$�	�
�	 0 �
 
��.	

��

� 
�� ���� 1
 

 ��
���� ��(�� 
'���
 γ ∈ Γ′ �
� ��
 Im(γ ·z) ���� ��'����� 1
 �
�� ������
	�
�����
 0 ������
	 ��	 �
 T k� ��
 �� ��	��
 	�
��
 �
 γ · z 
�� ����	��
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p ·w)

(
�(σ−1

p ·w)
)k

�� &����
��

�
 �(�
�
�� ����
� ��
�

F (w) = f(σ−1
p · w)

( �(σ−1
p · w)
�w

)k

f(σ−1
p · w)j(σ−1

p , w)−k.

������� ��� ��- F (w) �
� ��� ���
���� ��� 	����� ����	���� �� ����
 2k ���� σpΓσ−1
p ⊂ Γ(1)�

�� �	�
 F (w + 1) = F (w)�

�����
�������� ���� γ ∈ Γ�

F
(
(σpγσ−1

p ) · w)( �(σpγσ−1
p ) · w)k = f

(
(γσ−1

p ) · w)
(
�(γσ−1

p ) · w)k
= f

(
σ−1

p · w)(�σ−1
p · w)k

= F (w)(�w)k.

/
 ���� �� $�
����
 F 
�� ����	
�

� ��	���	�4
� #� �
	
��	
 �	��	���� 
�� ����	
 

 ��������
�
�� �	��	���� �(�
&�	��
�
 0 T ∈ (σpΓσ−1

p

)
∞ ⊂ σpΓσ−1

p �

1
 �
�� ��
� ���
�	 �� $�
����
 F̃ �
 q = e2iπz ����
 �	����
��

�� 
� ��	�
	 �
 ��	���	B
�4�
 0 �(�
�
� ���	 �� $�
����
 F �

2�3�� ��� �5- �� ��� ��� f �
� ��������!� #��
�� !�	�����!�$ �� p 
� F �
� ��������!� #��
��
!�	�����!�$ % 	�������

��



A

B’
B C C’

D
D’

D"

θ
2α

K

C

E

���� � E 9������ K ��
�

� ��
� �
 �����

 $�
���

��� �
 Γ0(4)�

#�	���
 f 
�� 4�����	�4
 

 �

 ���
�
 p� �
 ���
 f(p) = F (∞)� ���
��
 &��
�	 �
 f 

 p�
+��
 

 ���

� ��� �
 �� �����
 �(����&��

�
 �
 p ���	 Γ� ;��

���
� �� &��
�	 �
 f 

 p 
(
�� ���
�� �����
 �
 f(z) ���
� z �

� &
	� p�

2�3�� ��� �&- ��� ���
���� ��� 	����� ����	���� �� ����
 2k ���� Γ �
� ���� ����	���� 
� �		�
�
� ��������!� % 
!���� ������ #
�
� �� ��"	��
$�

2�3�� ��� �6- �� ����		� ����� ����	���� �� ����
 2k ���� Γ ����� ���
���� ����	���� �� ����

k ���� Γ ��� �
� !�	�����!� ������� #4 
�����
 ��' ������
$�

1
 
��
	� ����	���� M2k(Γ) �(
����
 �
� $�	�
� �������	
� �
 ����� 2k ��	 Γ�

2�3�� ��� ��- �� ��� ����� ����	���� �� ����
 2k ���� Γ 
�����	� ��' ������
� �� ��� ��� 
��
�
��� ����� ���� �	���� #
�
� ���� �� ��"	��
$ �� ����
 2k ���� Γ�

��� ��
�����
 
�� ��
 �����
 ���������


�-4-� 7 ��
 �
� 8�	
��� ��� ���� 
� �"��
 ���� ��� ����	���


���� ����
� �������
	 �
 �4��	��
 �
� 	������ 0 f(z)�z 
� �(log(f(z)))� !���
��
� ��
 �
�
���

%���
	- �� �!���+�� ��
 ��
���
 
��
��� (
���� f ��� ���
���� ��������!� 
�� �� ������ U �� C� C �� ��
 ���
� 
�� U ��	 ��� f �
�

������ 
�� C �� ∀λ ∈ C\U, Ind(C)(λ) = 0� �	��
 (

1
2iπ

∫
C

f(z)dz =
∑

� ���� �� �

IndC(p)Resf(p).

���� C �
 ��
���	 �
 �(

�
�.�
 K ���
� ��B�
������ ��	���	� ��
� �
 �

� ��	
���
�������
� ��
 f 
(� ��� �
 )�	� ��	 �
 .�	� �
 K� ��
�
� �� ��G� �
 ���
�	 �
 �����

 K ′

��
� �
 .�	� ��
���	

 �
� )�	�� �
 f �

'(���)�
 ��- ���� f ��� ���
���� ����	���� 
�� Γ0(4) �� ����
 2 (k = 1)� !�	�����!� 
�� H�
�� �

f(∞) + f(0) + f(1/2) = 0.

��



�����
�������� 9������
� �(�
���	��
 �
 �� $�
����
 f ��	 �
 ��
���	 C �
 Kα �
 � $���
� ��F�	

�
��
9���
 �� $�
����
 f 
�� ������� 4�����	�4
� 
��
 
(� ����
 �*�
� ��
� �
 �4��	��
 �
� 	������

�(��	�� ∫
C

f(z)�z = 0.

/
 ����� ∫ A

E

f(z)�z = − 1
2iπ

∫
ω

f̃(q)
q

�q

��	 �
 �4�
�
�

� �
 &�	��.�
 q = e2iπz �C ω 
�� �
 �
	��
 �
 �

�	
 0� ��	���	� ��
� �
 �

�

��	
��� /(��	�� �
 �4��	��
 �
� 	������ <

 ����
� g(q) = f̃(q)
q ��� � �
 �
���
 �*�
 

 0 �
 	�����

f̃(0)?� �
 � ��
� ∫ A

E

f(z)�z = −f̃(0) = −f(∞).

#(����

� T =
(

1 1
0 1

)
∈ Γ0(4) 

&��
 AB ��	 EC′� 
� f(T · z) = f(z)� 1
 � ��
�

∫ B

A

f(z)�z +
∫ E

D′
f(z)�z = 0.

:
��	
���
� 
��� ���
�

�
� 0 �(�
���	��
 ��	 B′C 
� C′D�

#(����

� a =
(

1 0
4 1

)
∈ Γ0(4) 

&��
 �(�	� B′C ��	 �(�	� DC′� !
��	���
� ���
�

�
� ��


�(�
 � f(γ · z)�(γ · z) = f(z)�z ���	 ���� γ ∈ Γ0(4)� ��	 �� $�
����
 
�� �
 ����� 2� +
 ��	������
	�
f(a · z)�(a · z) = f(z)�z� 
� ∫ C

B′
f(z)�z =

∫ C′

D

f(z)�z.

1
 � ��	 ����
�	�∫ C′

C

f(z)�z =
∫ C′

C

F (σ−1
0 · z)� (σ−1

0 · z) = −
∫ 1+iα

0+iα

F (w)�w.

/
 �� �J�
 ��
��	
 ��
 ���	 �
 ������ ��	 �(�	� EA� �
 �.��

�∫ 1+iα

0+iα

F (w)�w = F (∞) = f(0).

1
 � ��
� ∫ C′

C

f(z)�z = −f(0).

1
 �
�� 	��


	 �(�	� BB′ ��	 �(�	� D′D′′ ��	 �(����

� T ∈ Γ0(4) <&��	 ��4��� ���
 ��?� 1	
�
 � f(T · z)�(T · z) = f(z)�z� 1
 � ��
�∫ B′

B

f(z)�z +
∫ D′

D

f(z)�z =
∫ D′′

D

f(z)�z.

��	 �
 ������ �
�����
 0 �
��� �
 �(�
���	��
 ��	 �(�	� CC′� �
 �.��

�∫ B

B

f(z)�z +
∫ D′

D

f(z)�z = −f(
1
2
).

+
 �����
� ����
� �
� �
���	��
�� �
 �.��

� �
 	������� &�����

��
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� 9���� 
 	
� �:	
� �"��
 ���� ��� ����	���


���� f �

 $�
����
 ��	���	�4
 ��	 H� 
�
 ��

����
�

� 
���
� 
� ���� p �
 ���
� �
 H�

2�3�� ��� ��- 5��
 ����		����
 ����� �� f �� p� �� ���
 �������
 νp(f) 	������� n ��	 ���

z �→ f(z)
(z − p)n


��� !�	�����!� �� ��� ��		� �� p�

#�	���
 f 
�� �

 $�
����
 �������	
 �
 ����� 2k ���	 Γ0(4)� �(��

���� 3

f(γ · z) = j(γ, z)kf(z)

��
�	
 ��
 νp(f) = νγ(p)(f) ���	 ���� p ∈ H 
� γ ∈ Γ0(4) 8 

 �(���	
� �
	�
�� νp(f) 

 ���

�
��
 �
 �(����
 �
 p ��
� �
 �����

� H/Γ0(4)�

1
 �
�� �
 ���� ���
�	 ν∞(f) ����
 �(�	�	
 ���	 q = 0 �
 �� $�
����
 f̃(q) �������
 0 f � 
�
νp(f) ���	 �

 ���
�
 p ����
 �(�	�	
 �
 w = 0 ���	 F (w) �������
 0 f �

���� p �
 ���
� �
 H� !
��	���
� ��
 �� p 
�� �
 �*�
 �
 f �
 � νp(f) < 0� �� p 
�� �
 )�	�
�
 f � νp(f) > 0 
� ���	 p �
 ���
� ��
���
��
� νp(f) = 0�

1
 	���
��
 ��
 σp � ��� �4���� �
� ��
 σp · p = ∞ 
�

(
σpΓσ−1

p

)
∞ = {

(
1 m
0 1

)
: m ∈ N}

�C
(
σpΓσ−1

p

)
∞ �����

 �
 ���.������
�	 �
 σpΓσ−1

p 0 �(�
�
��

������� ��� ��- ���� f ��� ���
���� !�	�����!� 
�� H� �� ������ f̃ �� F 
���� ���
 	�
������ �� ���� p �� �6	� �� f � �� �

νp(f) = lim
α→0

1
2iπ

∫
ωα

f ′(z)
f(z)

�z

�2 ωα �
� 	���
 �� 
��
	� ���"��� % 	��'� ��
 ���	
 �� p �� ��4�� α 
������ ���
 D ���
���� ���

	� 
��
 ����
� 
� p �= ∞� �� �� 
�"���� �� 	� ����� [αi − 1/2, αi + 1/2] ���� p = ∞�

�����
�������� 9������
� νp(f)� ��	 ���
����
� νp(f) = ν0(F̃ )� /(��	�� �
 �4��	��
 �
� 	�������
�
 � ��
� 3

νp(f) =
1

2iπ

∫
S1

α

F̃ ′(q)
F̃ (q)

�q =
1

2iπ

∫
S1

α

�(log F̃ (q)) =
1

2iπ

∫
S1

α

�(log F̃ (e2iπz))

=
1

2iπ

∫ 1+ i
2α

0+ i
2α

�(log F (w)).

1	

F (w) = f(σ−1
p w)

(
�σ−1

p w

�w

)k

.

/(�C

νp(f) =
1

2iπ

∫ 1+ i
2α

0+ i
2α

�

[
log(f(σ−1

p w)) + k log

(
�σ−1

p w

�w

)]

=
1

2iπ

∫ 1+ i
2α

0+ i
2α

�(f(σ−1
p w))

f(σ−1
p w)

+
1

2iπ

∫ 1+ i
2α

0+ i
2α

�

(
k log

(
�σ−1

p w

�w

))
.

/
 ����� 

 
F
����
� ��
� �
 �	
��
	 �
	�
 �
 �4�
�
�

� �
 &�	��.�
 z = σ−1
p w �
 �.��

� 3

��



1
2iπ

∫ 1

0

f ′(σ−1
p w)

f(σ−1
p w)

�(σ−1
p w) =

1
2iπ

∫
ωα

f ′(z)
f(z)

�z.

9������
� �
 �
�'���
 �
	�
 �
 �� ����
� +�	�&�
� σ−1
p ���� �� $�	�


(
a b
c d

)
� 1
 � ���	�

�σ−1
p w

�w
=

1
(cw + d)2


� ��
�

�

(
k log

(
�σ−1

p w

�w

))
= −2k � (log(cw + d)) .

!
����2�
� ��
� �(
'�	
����
 �
 νp(f) 3

νp(f) =
1

2iπ

∫
ωα

f ′(z)
f(z)

�z − 2kc

2iπ

∫ 1+ i
2α

0+ i
2α

� (log(cw + d))

=
1

2iπ

∫
ωα

f ′(z)
f(z)

�z − 2kc

2iπ
log

(
1 +

c
ic
2α + d

)
.

9���
 �
 � $�	���

� (c, d) �= (0, 0)� lim
α→0

c
ic
2α + d

= 0� 1
 � ��
�

νp(f) = lim
α→0

1
2iπ

∫
ωα

f ′(z)
f(z)

�z.

'(���)�
 �4- ���� f ��� ���
���� ����	���� �� ����
 2k� !�	�����!� 
�� H �� ��� ���������.
���� ��		�� �� �

ν∞ + ν0 + ν1/2 +
∑

� ��	
 �� �

νp(f) = k.

�����
�������� ���	 f �

 $�
����
 �������	
 ��	 Γ0(4)� 4�����	�4
 ��	����� �� $�
����
 f̃ ���
�



 ��� 
�� 4�����	�4
 �� &����
��
 �
 0� 1
 �
�� ��
� �	��&
	 �
 �
	��
 ��
�

� 

 0 �
 	�A�
 ���
)
�
��� ���	 ��
 f̃ 
(��� ��� �
 )�	� ��
� �� ��	��
 �� �����
 ��
�

�
 ��
� �
 �����

 $�
���

���
��
����	�� 1	 �
 �
� �����
 
�� 

&�A� ��	 �
 �
��

� 4�	�)�
��� �
 ��
��
�	 1 ��	 σ0 <���
� 


���?� ;�
��� �� 
'���
 R �
� ��
 f 
(� ��� �
 )�	� ���	 Imf(z) � R�

/
 �J�
� ���	 �

 ���
�
 p� �� $�
����
 F ���
�
 

 ��� 
�� 4�����	�4
 0 �(�
�
�� ��
� ��	 ��
�J�
 ���4��
 ��
 �	����
��

�� �� 
'���
 �
 �
	��
 ��
�

� 

 p 0 �(�'
 �
� 	�
�� �
� ��
 f 
(�
��� �
 )�	� 0 �(�
��	�
�	 �� �
	��
�

94�������
� ���	� �
 ���� �
��� 	�A�
 α ��	�� �
� �
	��
 ��
��	���� �����	 �
 �4���

 �
� ���
�
��
���	 ���
�	 �
 �����

 K� 
��� �	

�	�
� ���� �
� �
	��
� �
 	�A�
 α�



��
- ���� f ��� ���
���� ��������!� 
�� H� ��� ������������� ��		�� ���� C �� 
������ ��	
��� 	���������� 
�������� �� �����
������ �� 
!���� 7��� �� �6	� �� f � 8	��
 �� � 	��"�	��� (

1
2iπ

∫
C

f ′(z)
f(z)

�z =
∑

p∈H/Γ0(4)

νp(f).

�����
�������� ;�������
� ���� �(�.�	� �
 �4��	��
 �
� 	������ 0 �� $�
����
 f ′/f 3

1
2iπ

∫
C

f ′(z)
f(z)

�z =
∑

� ���� �� ��	�

IndC(p)Resf ′/f (p).

�%



���� p �
 ���
� ��
���
��
 �
 H/Γ0(4)� ��	 ���
����
 �
 νp(f) �
 �
�� ��	�	
 ���	 z ��
&����
��
 �
 p 3

f(z) = (z − p)νp(f)g(z)

�C g 
�� �

 $�
����
 4�����	�4
 
�
 
���
 

 p� 1
 � ��
�

f ′(z)
f(z)

=
νp(f)
z − p

+
g′(z)
g(z)

.

/�
� �(

�
�.�
 �
� �*�
� �
 f ′/f 
�� 
'���
�

� �(

�
�.�
 �
� )�	�� 
� �*�
� �
 f � 
� �

����� �
 � Resf ′/f (p) = νp(f)�

+
�
� IndC(p) = 1 ��	 �
 � �4���� C �
 �
��
 ��	�
 ��(�� 

���	
 �4���
 �*�
 �� )�	� �
 f �
1
 � ��
� ����
�	� �
 �
��
�

!
&

�
� 0 �� ����
��	����
 �� �4��	��
 �%�
1
 �������
 ��
� �� $�	���
 ����
�	�
 ��
� �
 �
��
 ��B�
���� 0 �� $�
����
 f � 1
 �.��

� 3

1
2iπ

∫
C

f ′(z)
f(z)

�z =
∑

p∈H/Γ0(4)

νp(f).

9���
 �� $�
����
 f 
�� �������
 4�����	�4
 ��	���� ���$ ��' ���
�
�� �
� �
��� νp(f) 
�


��� ��
� �
�' ���	 p �
 )�	� �
 f � 1
 � ��
� 3

1
2iπ

∫
C

f ′(z)
f(z)

�z =
∑

p 
��
 �� f

νp(f).

1
 &� ���
�

�
� �
���	
	 ��	�
�� ��	 ��	�
�� f ′(z)
f(z) ��	 �
 ��
���	 C� 

 $����
� �

�	
 α

&
	� 0�

; EαAα < #� $�	���
 ����
�	�
 ��
� �� �	��������
 �� ��
�	
 ��������
�

� ��


lim
α→0

1
2iπ

∫ Aα

Eα

f ′(z)
f(z)

�z = −ν∞(f).

; AαBα et D′
αEα < #(����

� T =

(
1 1
0 1

)
∈ Γ0(4) 

&��
 �(�	� AαBα ��	 �(�	� EαD′

α� ��	

���
����
 �
� $�	�
� �������	
�� �
 � f(T · z) = f(z)� 1
 � ��
�

1
2iπ

∫ Bα

Aα

f ′(z)
f(z)

�z +
1

2iπ

∫ Eα

D′
α

f ′(z)
f(z)

�z =
1

2iπ

∫ Bα

Aα

f ′(z)
f(z)

�z +
1

2iπ

∫ Eα

D′
α

f ′(T · z)
f(T · z)

�(T · z)

=
1

2iπ

∫ Bα

Aα

f ′(z)
f(z)

�z +
1

2iπ

∫ Aα

Bα

f ′(z)
f(z)

�z

= 0

; BαB′
α et DαD′

α < #(����

� T =
(

1 1
0 1

)
∈ Γ0(4) 

&��
 �(�	� BαB′

α ��	 �(�	� D′
αD′′

α� ��	

�	�
������
 �� �����

 D �
 1/2 <��� 	
��
 ��
� �
 �����

 $�
���

��� �
 Γ0(4)?� �
 &���
��
 DαD′

α ∪ D′
αD′′

α 
�� �
 �	� �
 �
	��
 �� �A�
 ωα� ��	���	� ��
� �
 �

� �
��	
��� 1
 �
��
�� �(��	�� �� �	��������
 ���

1
2iπ

∫ D′′
α

Dα

f ′(z)
f(z)

�z =
1

2iπ

∫ B′
α

Bα

f ′(z)
f(z)

�z +
1

2iπ

∫ D′
α

Dα

f ′(z)
f(z)

�z
α→0−→ −ν 1

2
(f).

��



; B′
αCα et C′

αDα < #(�	� DαC′
α 
�� �(����
 ��	 a =

(
1 0
4 1

)
∈ Γ0(4) �
 B′

αCα� 1	� �
 �

f(a · z) = (4z + 1)2kf(z)� 1
 � ��
�

log (f(a · z)) = 2k log(4z + 1) + log (f(z))

� (log (f(a · z))) =
8k

4z + 1
+ � (log(f(z)))

+��

1
2iπ

∫ Cα

B′
α

f ′(z)
f(z)

�z =
1

2iπ

∫ Cα

B′
α

f ′(a · z)
f(a · z)

�z − 1
2iπ

∫ Cα

B′
α

8k

4z + 1
�z

=
1

2iπ

∫ C′
α

Dα

f ′(z)
f(z)

�z − 2k

2iπ

[
log(4z + 1)

]− 1
4+ 1

4 eiθ

− 1
4+ 1

4 ei(π−θ)

= − 1
2iπ

∫ Dα

C′
α

f ′(z)
f(z)

�z − k(
2θ

π
− 1).

/�
�

lim
α→0

(
1

2iπ

∫ Cα

B′
α

f ′(z)
f(z)

�z +
1

2iπ

∫ Dα

C′
α

f ′(z)
f(z)

�z

)
= k

������
 .�

 

�

��� θ → 0 ⇔ α → 0�
; CαC′

α < #� �	��������
 �� 
��� ��


 ��	
��
�

�

lim
α→0

1
2iπ

∫ C′
α

Cα

f ′(z)
f(z)

�z = −ν0(f).

1
 �.��

� ��
� ∑
� 
��
 �� �

νp(f) = −ν∞ − ν0 − ν1/2 + k

�
 ��� 
�� �
 	������� �4
	�4��

� �� ������� �� �����


����
� ���
�

�
�
∀z ∈ H, θ(z) =

∑
m∈Z

e2iπm2z.

1
 � θ4(z) =
∑
n∈Z

r4(n)e2iπnz � ���� ����
� &��	 ��
 �� $�
����
 θ4 
�� �

 $�	�
 �������	
 �
 �����

2 ���	 Γ0(4)�

��� ����� �� �� �������� θ

#� $�
����
 θ(z) ��
&
	�
 �
�$�	���

� ��	 ���� ������� �
 H 8 
��
 
�� ��
� 4�����	�4
 ��	
H ����
 �����
 �
�$�	�
 �
 $�
����
� 4�����	�4
��

'(���)�
 ��- ���� ���� z ∈ H� γ ∈ Γ0(4)� θ4(γz) = (cz + d)2θ4(z).

�����
�������� 7�
�	�
� �(�.�	� ��
 ���	 γ = a 
� γ = b �
 � .�

 �� �	��	���� &����
�

� 



�� γ = a

θ4(z + 1) =
∑
n∈Z

r4(n)e2iπn(z+1) =
∑
n∈Z

r4(n)e2iπnz = θ4(z).

�� γ = b
+
 ��	�&�
� z

(4z+1) = 1
4 − 1

4(4z+1) 
� ����
 (m
2 )2 ������ � 

 ���

� ��
 �
 m ������ ��

�
 � 3

θ(
z

4z + 1
) =

∑
m∈Z

e2iπm2( z
4z+1 ) =

∑
m∈Z

e2iπ( m
2 )2 e−2iπ( m

2 )2 1
4z+1

=
∑

m �
� 2

e2iπ( m
2 )2

∑
t∈Z

e−2iπ( m
2 +t)2 1

4z+1 .

���� �� $�
����
 f : t �→ e−aπ( m
2 +t)2 � !���
��
� ��
 f̂(ξ) = (1/

√
a) eπξ2/a eiπmξ <
�� ;
B



'
 �?� #� $�	���
 �
 ������
 <
�� �
 �
��
 ��B�
�����? ��������
 0 �� $�
����
 f �&
�
a = 2i

4z+1 �
	�
� �
 ������
	 3

θ(
z

4z + 1
) =

∑
m �
� 2

e
iπm2

2

∑
t∈Z

√
4z+1

2i e−π( 4z+1
2i )t2eiπmt

=
√

4z+1
2i

∑
t∈Z

e2iπzt2 e
iπt2

2 (1 + ieiπt)︸ ︷︷ ︸
=1+i

=
√

4z+1
2i (1 + i)θ(z).

+
 ��	������
	� θ4( z
4z+1 ) = (4z + 1)2θ4(z) �
 ��� 
�� �
 	������� &�����

#� $�	���
 
�� ��
� &�	���
 ��	 a 
� b ��� 

�

�	

� Γ0(4)� :� 	
��
 0 &��	 ��
 �� $�	���
 ����

.�

 0 �� ����������
 8 �
�� ������
 �
 �(��

����

θ4((γγ′) · z) = j(γ, γ′ · z) θ4(γ′ · z) = j(γ, γ′ · z) j(γ′, z)︸ ︷︷ ︸
=j(γγ′,z)

θ4(z).



��
 *�����	
 �
 �������,- ���� f ��� ���
���� C∞ % ��
���

��
� ������� ���� ���� ����
m, n ∈ N� lim

|x|→∞
xnf (m)(x) = 0� �� � (

∑
m∈Z

f(m) =
∑
m∈Z

f̂(m) ���
 f̂(ξ) =
∫

R

f(x)e−2iπxξ �x.

�����
�������� ���� ϕ(x) =
∑

n∈Z f(x+n)� 9���
 f 
�� 0 ���	�����
�
 	����
� �� ��	�
 ���
����
�
ϕ ��
&
	�
 
�	���
�

� ��	 R� ��
�� ��
 ����
� �
� ��	�&�
� �
	�
 0 �
	�
� #� $�
����
 ϕ 
�� ��
�
C∞ 
� �B��	������
�

9������
� �
� ��
G��

�� �
 D��	�
	 �����
'
� �
 ϕ� 1
 �� 

 �
���	�
� �
	�
 0 �
	�
� �
 ���

�� �����
 ��	 �� ��	�
 ��
&
	�
 �
�$�	���

� 3

cn =
∫ 1

0

ϕ(x)e−2iπnx �x =
∑
k∈Z

∫ 1

0

f(x + k)e−2iπnx �x

=
∑
k∈Z

∫ k+1

k

f(x + k)e−2iπnx �x = f̂(n)

�"



#� $�
����
 ϕ 
�� ����
 �
 �� ��	�
 �
 D��	�
	 ��
�∑
n∈Z

f̂(n)e2iπnx =
∑
n∈Z

f(x + n).

#� $�	���
 ���

��
 
�� �.�

�
 ���	 x = 0�

'(���)�
 ��- �� ���
���� θ4 �
� ��� ����� ����	���� �� ����
 � ���
 θ4(∞) = 1� θ4(0) =
−1, θ4(−1/2) = 0.

�����
�������� #� $�
����
 θ4 
�� 4�����	�4
 ��	 H 
� &�	��
 �
 �	���	
 �(�
&�	��
�
� :� ��G� �

��
�	
	 ��
 θ4 
�� 4�����	�4
 0 �4���
 ���
�
� +'���
�
� θ4 ��	 �
� �	��� ���
�
� �
 DΓ0(4)�

E ���	 �� ���
�
 

 �(�
�
� 8 �� ��
&
	�

�
 �
 �� ��	�
 �
 θ 
�� �
�$�	�
 ��	 �
 &����
��
 �

�(�
�
�� �
 �
�� ��
� ����
	 0 �� �����
 �
	�
 0 �
	�
� 1
 �	��&
 θ(∞) = 1 
� �
 	��������

E ���	 �� ���
�
 

 6 8 �� &�	��.�
 �����
 
�� ω = σ−1
0 · z �C σ−1

0 =
(

0 −1/2
2 0

)
� +
 �������
�

�� �	��������
 �, 
� �(������� �2 = 1 �
 �.��

� 3

Θ(w) =
θ4(σ−1

0 · w)
j(σ−1

0 , w)
= θ4(− 1

4w
)

1
(2w)2

= −4w2θ4(w)
1

4w2
= −θ4(w) −−−−→

w→∞ −1.

E ���	 �� ���
�
 −1/2� �
 ��
��	
 ��4�	

�
 �&
� �
 �4��	��
 ��� �
 &�	��
 ��


θ4(−1/2) + θ4(0) + θ4(∞) = 0


� �
 

 ������ �
 	��������

��� ��
 
����
 ����
��
����

#
� ��	�
� �(+��

��
�
 $��	
���

� �(���	
� $�	�
� �������	
� 
�
 ��	�.�����
�� 9
� $�	�
�
��
� .�

 ��

�
�� #(
����
 

�

�	� ��	 �
� ��	�
� �(+��

��
�
 
�� �������

���	
 �� $�	�
�
��	�.�����
� ��
� �
� $�	�
� �������	
�� 1	 �(
����
 �
� $�	�
� ��	�.�����
� �
 ����� � ���	
Γ0(4) 
�� �	�&���� #
� ��	�
� �(+��

��
�
 $�	�

� ��
� �

 .��
 �
 �(
����
 �
 $�	�
� �������	
�
�
 ����� � ���	 Γ0(4)�

'(���)�
 �5- �� 
��	� ����� ���� �	���� �� ����
 � ���� Γ0(4) �
� 	� ����� ��		��

�����
�������� �������
� ��	 �(�.��	�
 ��
 f 
�� �

 $�	�
 ��	�.�����
 
�
 
���
 �
 Γ0(4)�
/(��	�� �
 �4��	��
 �	����

�� �
 �

ν∞ + ν0 + ν1/2 +
∑

� 
��
 �� �

νp(f) = k.

1	 �� f 
�� �

 $�	�
 ��	�.�����
� ∞, 0, et 1/2 ��
� �
� )�	�� �
 f � ��
� ν∞(f)� ν0(f) 
�
ν1/2(f) ��
� ��	���
�

� ������$�� 1
 � ��
� ν∞ + ν0 + ν1/2 � 3� 9���


∑
� 
��
 �� �

νp(f) � 0� �


�.��

� �� ��
�	�������
 1 � 3� ;.��	�
�

!���		���
 �&- ��
 
����
 ��-�
��
���� ������� ���  �
� �� 	��
��
� ��
 �����
 ����	����
 ��
����
 � ���� Γ0(4)�

�,



#
 ��� �
� ��	�
� �(+��

��
�
 �
 ����� ����	�
�	 0 � 
�� 
���	
� 
� �����
 0 �	���
	� :� 
'�����

�(�	���

 �
 �� ���
����
 �
� ��	�
� �(+��

��
�
 �
 ����� � 
� ��


 �
 ���	
 ���� ��
�	�� 0 �
	���


�	��������
��

���� 

 �	����
� ��� ��
 �
 ��� �
� ��	�
� �(+��

��
�
 �
 ����� �� ���� 	

&�A�
� 

 �


'

���	 �
 ��� ���� ��
�	���

/
 ��
��	
 �
�����
 ��' ��	�
� �(+��

��
�
 �
 ����� ����	�
�	 0 �� �
 &���	��� ���
�	

E
(∞)
2 (z) =

1
2

∑
γ∈ Γ0(4)∞\Γ0(4)

j(γ, z)−1 =
2

3ζ(2)

⎛
⎜⎜⎝ ∑

4|c
d ������

(cz + d)−2

⎞
⎟⎟⎠

=
2

3ζ(2)

⎛
⎜⎜⎝ ∑

c≡0[4]
d≡1[4]

(cz + d)−2 +
∑

c≡0[4]
d≡−1[4]

(cz + d)−2

⎞
⎟⎟⎠ .

9
 ��� 
��� ���

 0 ���
	 $�	�
��
�

� ���	 a ∈ (Z/4Z)∗�

G
(0,a)
2 (z) =

∑
(m1,m2)∈Z2

(m1,m2)≡(0,a)[4]

1
(m1z + m2)2

.

/�� ��	�� �
 �
E

(∞)
2 (z) =

∑
a∈(Z/4Z)∗

G
(0,a)
2 (z).

#
 �	�.���
 
�� ��
 �� ��	�
 ��� ���
�� G
(0,a)
2 
(
�� ��� �.�����

� ��
&
	�

�
� :� $��� ���
�	 �


�	�	
 �
 ��������
 
� &�	��
	 ��
 �� $�
����
 ���
�
 
�� .�

 4�����	�4
�
����
�� �
��
 $���B�� 	����	
��
�

�

G
(0,a)
2 (z) =

∑
m1≡0[4]

∑
m2≡a[4]

1
(m1z + m2)2

.

������� ��� �6- ���� ���� a ∈ (Z/4Z)∗� 	� ���
���� G
(0,a)
2 (z) �
�  ��� ������ �� �
� !�	�����!�


�� H�

�����
�������� 1
 ��	� �
 �� $�	���
 �����
 ���&�
�
 3

∀a ∈ C, π cot(πa) =
1
a

+
∞∑

n=1

(
1

a + n
+

1
a − n

). <�?

;��	� 

 ��	�&�
� cot(πa) = 1 + 2/(e2iπa − 1)� 

 	
����2�
� a ��	 mz� 
� 

 ��	�&�
� �
 �4���

�*��� �
 �.��

� ∑

n∈Z

1
(z + n)2

= −4π2
∞∑

j=1

je2iπjz .

�6



;�������
� �
�� 0 
��	
 $�
����
 3

G
(0,a)
2 (z) =

∑
m2≡a[4]

1
m 2

2

+
∑

m1≡0[4]
m1 	=0

∑
m2≡a[4]

1
(m1z + m2)2

=
∑

m2≡a[4]
m2>0

1
m 2

2

+
∑

m2≡−a[4]
m2>0

1
m 2

2

+
1
16

∑
m1≡0[4]
m1>0

∑
n∈Z

(
m1z + a

4
+ n)−2

+
1
16

∑
m1≡0[4]
m1>0

∑
n∈Z

(
m1z − a

4
+ n)−2

=
∑

m2 ������

1
m 2

2

− π2

4

⎛
⎜⎜⎝ ∑

m1≡0[4]
m1>0

∞∑
j=1

jei π
2 j(m1z+a) +

∑
m1≡0[4]
m1>0

∞∑
j=1

jei π
2 j(m1z−a)

⎞
⎟⎟⎠ .

1
 ���
 q′ = ei π
2 z� ���	�

G
(0,a)
2 (z) =

3
4
ζ(2) − π2

4

⎛
⎜⎜⎝ ∑

m1≡0[4]
m1>0

∞∑
j=1

j(ija + i−ja)qjm1

⎞
⎟⎟⎠

=
3
4
ζ(2) +

∞∑
n=1

bnq′n

�&
� b4n = −π2

4

∑
j|n

j(ija + i−ja) 
� bn = 0 �� 4 � n�

/� ����� �
 �
�� ��������
	 

 ��	�
 �
 D��	�
	� �� q = e2iπz � ���	� 3

G
(0,a)
2 (z) =

3
4
ζ(2) +

∞∑
n=1

cnqn <�?

�&
� cn = −π2

4

∑
j|n

j(ija + i−ja)�

#
 	�A�
 �
 ��
&
	�

�
 �
 �� ��	�
 �
 �
	�
 ��
�	�� cn 
�� ����	�
�	 0 �� #� $�
����
 G
(0,a)
2 (z)


�� ��
� .�

 4�����	�4
 ��	 H�

#� ��	�
 �(+��

��
�
 ������� 0 6 &� J�	
 3

E
(0)
2 (z) =

2
3ζ(2)

⎛
⎝4 ·

∑
a∈(Z/4Z)∗

G
(a,0)
2 (4z)

⎞
⎠ .

/
 �� �J�
 $�2�
 ��
 ���	 G
(0,a)
2 (z)� �
 �.��

� �� �	��������
 3

������� ��� ��- ���� ���� a ∈ (Z/4Z)∗� 	� ���
���� G
(a,0)
2 (z) �
�  ��� ������ �� �
� !�	�����!�


�� H� �� �	�
� 
� q = e2iπz �	��


4G
(a,0)
2 (4z) = −π2

∞∑
n=1

dnqn ���
 dn =
∑
j|n

n/j ���
�	

j.

��



9�
�	��	
�

� ��' ��	�
� �(+��

��
�
 �
 ����� ����	�
�	 0 �� 
�� ��	�
� ���
�
� ��� 

 ��
� ���
&	���

� �
&�	��
�
� ��	 Γ0(4)� ���� ����
� ��
	 �
 ��$��� �(�
&�	��
�
 

 ��
����	�
� �� $�
����


F (z) = E
(∞)
2 (z) − E

(0)
2 (z).

:
�	������
� �� �
	�
 am1,m2(z) ���
� ��	

am1,m2(z) =
1

m1z + m2 − 4
− 1

m1z + m2

#
 ��	�
 ���.�
 �
 �
	�
 ��
�	�� am1,m2(z) 
(
�� ��� �.�����

� ��
&
	�

�
� ���� �
	�
� ��

�
��	 �� ����
 0 ������
	 �� ��F�	

�
 

�	
 �
� �
�' ��	�
� ���.�
� �(�	�	
 �
 ��������
 �
&
	��
�
���.�����
� ��
� �
� $�	���
� ���&�
�
� 3

������� ��� ��- ���� ���� z ∈ H� �� �

∀b, m1 ∈ Z,
∑

m2≡b[4]

am1,m2 = 0

��
B(z) =

∑
a∈(Z/4Z)∗

∑
m2≡a[4]

∑
m1≡0[4]

am1,m2(z) = −i
π

z

��
C(z) =

∑
a∈(Z/4Z)∗

∑
m2≡0[4]

∑
m1≡a[4]

am1,m2(z) = −i
π

z

�����
�������� #� �	
���	
 $�	���
 
�� �&��

�
 ��	 �
� �
	�
� am1,m2(z) �
 ���
����

��
���	 �� �
�'���
 $�	���
� �
 ����

�
 ��	∑

m2≡a[4]

∑
m1≡0[4]

am1,m2 =
∑

m2≡a[4]

∑
m1≡0[4]
m1 	=0

am1,m2

= lim
N→∞

N∑
k=−N+1

∑
n	=0

(
1

4nz + a + 4(k − 1)
− 1

4nz + a + 4k
)
)

= lim
N→∞

∑
n	=0

(
1

4nz + a − 4N
− 1

4nz + a + 4N
)
)

=
1
2z

lim
N→∞

∞∑
n=1

((
a − 4N

4z
+ n

)−1

+
(−a − 4N

4z
− n

)−1
)

.

�����
� ���
�

�
� ��	 �
� a ∈ (Z/4Z)∗� +
 	��������
� �� $�	���
 <�?� �
 �.��

� 3

2zB(z) =
∞∑

n=1

((
a − 4N

4z
+ n

)−1

+
(

a − 4N

4z
− n

)−1
)

+
∞∑

n=1

((−a − 4N

4z
+ n

)−1

+
(−a − 4N

4z
− n

)−1
)

= π cot(
π(a − 4N)

4z
)︸ ︷︷ ︸

−−−−→
N→∞

−i

+
4z

4N − a︸ ︷︷ ︸
−−−−→

N→∞
0

+π cot(−π(a + 4N)
4z

)︸ ︷︷ ︸
−−−−→

N→∞
−i

+
4z

4N + a︸ ︷︷ ︸
−−−−→

N→∞
0

/�
� ∑
a∈(Z/4Z)∗

∑
m2≡a[4]

∑
m1≡0[4]

am1,m2(z) = −i
π

z

L
 ������ �������	
 
��� ��


 �� �
	
��	
 $�	���
�

��



���� ����
� ���
�

�
� 

 �
��	
 �(���.��	 �� �
�'���
 �	��	���� $�
���

���
�

������� ��� ��- �� ���
���� F �
� ���������� ��� Γ0(4)�

�����
�������� 9���	
�

� F (z+1) = F (z)� :� 	
��
 0 ��
�	
	 ��
 F (a·z) = F (z)� ���� 	

&�A�
�
0 �� ��	��
 ��	 �� $�
����
 θ4 ���	 &��	 ��
 �
�� ��G��



��
- ���� ���� z ∈ H� �� � − 1
4z2

F (− 1
4z

) = F (z)

�����
�������� ���� ����
� 
��� .��
	 ��	 � ������� �
�
	������	
�� !
��	���
� �(�.�	� ��


1
4z2

G
(0,a)
2 (− 1

4z
) = 4

∑
m1≡0[4]

∑
m2≡a[4]

(4m2z − m1)−2 <�?


�
1

4z2

(
4 · G(a,0)

2 (− 1
4z

· 4)
)

=
∑

m1≡a[4]

∑
m2≡0[4]

(m2z − m1)−2. <%?

+
 �
�	������
� �
 �
	�
 am1,m2(z) = 1
m1z+m2−4 − 1

m1z+m2
� �
 	

� �
� ��	�
� ���
����
� G

(0,a)
2


� G
(a,0)
2 �.�����

� ��
&
	�

�
�� 9���
 �� ����
 �
� am1,m2 �
 ���
����
� �
 �

G
(0,a)
2 (z) =

∑
m1≡0[4]

∑
m2≡a[4]

(
(m1z + m2)−2 − am1,m2(z)

)
=

∑
m2≡a[4]

∑
m1≡0[4]

(
(m1z + m2)−2 − am1,m2(z)

)

= 4 ·
(

1
4z2

G
(a,0)
2 (−1/z)

)
+

∑
m2≡a[4]

∑
m1≡0[4]

am1,m2(z). <�?

/
 �J�


G
(a,0)
2 (4z) =

1
4
·
(

1
4z2

G
(0,a)
2 (−1/(4z))

)
+

∑
m2≡0[4]

∑
m1≡a[4]

am1,m2(4z) < ?

;�
�� 

 ���.�
�
� �
� �������
� <�?� <%?� <�? 
� < ?� �
 �.��

�

− 1
4z2

F (− 1
4z

) = − 1
4z2

[
G

(0,1)
2 (− 1

4z
) + G

(0,−1)
2 (− 1

4z
) − 4 ·

(
G

(1,0)
2 (−1

z
) + G

(−1,0)
2 (−1

z
)
)]

= −4 G
(1,0)
2 (4z) − 4 G

(−1,0)
2 (4z) + G

(0,1)
2 (z) + G

(0,−1)
2 (z) + 4C(4z) − B(z)︸ ︷︷ ︸

=0

= F (z).

!
&

�
� 0 �� ����
��	����
 �
 �� �	��������
� /
 ��
��	
 �������	
 0 �
 ��
 �(�
 �&��� $���
��
� �
 ������ ���	 �(�
&�	��
�
 �
 θ4� 
��� ����
� 

 �����	
 �(�
&�	��
�
 ��	 �� �	�
�$�	�����

��	 �� ���	��
 a �
 F �

����
�

P =
(

0 −1
4 0

)
.

1
 � �(��

���� P@
−1

P−1 = a�

F (a · z) = F
(
(P@

−1
P−1) · z) = −4

(
(@

−1
P−1

) · z)2F
(
(@

−1
P−1

) · z)

= −4(− 1
4z

− 1)2F (P−1 · z) = 4(
1 + 4z

4z
)2 · 4z2F (z)

= (4z + 1)2F (z) = j(a, z)F (z)

��



������� ��� ��- ��
 ���
����
 θ4 �� F 
��� 	�
 �9��
�

�����
�������� 1
 � F (∞) = 1 ��	 �
 ��&
����
�

� 

 ��	�
 �
 D��	�
	� #� &�	��.�
 �����
 

 6


�� ω = σ−1
0 · z �C σ−1

0 =
(

0 −1/2
2 0

)
� 1
 � ��
�

f(− 1
4w

)
1

(2w)2
= −4w2f(w)

1
4w2

= −f(w) 
� F (0) = −1.

#
 �4��	��
 �� ��


 ��
 F (1/2) = 0� /�
� �� $�	�
 �������	
 θ4 −F �
 ����� � ���	 Γ0(4)

�� �

 $�	�
 ��	�.�����
� #
 �4��	��
 �" ��


 F = θ4�

���� ���&�
� �
��
�

� ����
�	
	 �� $�	���
 �
�
��
 ��
���
� ���
� ���� �*��

��� �� ������� ��  ���!�

'(���)�
 �4 *�����	
 �
 ������,- ���� ���� n ∈ N� r4(n) = 8
∑
d|n
4�d

d.

�����
�������� +
 ��

����
� �
� ��
G��

�� �
 D��	�
	 �
� $�
����
� F 
� θ4 0 �(���
 �
 �(�������

<�? 
� �� �	��������
 ��� �
 �	��&
 ��
 ���	 ���� n ∈ N�

r4(n) = 2 · 2
3ζ(2)

(cn − dn) = 8
( ∑

j|n
n/j ������

j
)
− 2

(∑
j|n

j(ij + i−j)
)
.

����	�
� �
�' ��� 3
E �� 
 �����	 ���	� �
 �	
��
	 �
	�
 &��� 8

∑
d|n d 
� �
 �
�'���
 �
	�
 
�� 
���

E �� 
 
�� ���	� �
 ��	�� n = 2rn0 �&
� n0 �����	�
#
 �	
��
	 �
	�
 &��� ���	� ∑

d|n
n/d ������

d =
∑
d|n0

2rd,


� ���	 �
 �
��
� �
	�


∑
d|n

d(id + i−d) = 2
∑
d|n
2|d

(−1)d/2d = 2
r∑

i=1

∑
d|n0

(−1)2
i−1d 2id

= 2((−1) · 2 +
r∑

i=2

2i)
∑
d|n0

d = (2r+2 − 12)
∑
d|n0

d.

;� �����
r4(n) =

(
8 · 2r − 2(2r+2 − 12)

)∑
d|n0

d = 24
∑
d|n0

d.

!
��
 0 &�	��
	 ��
 �� <d|n 
� 4 � n? ���	� <d|n0? �� <d = 2d′ 
� d′|n0 ?� ;�
��

8
∑
d|n
4�d

= 8
(∑

d|n0

d +
∑
d|n0

2d
)

= 24
∑
d|n0

d = r4(n).

/�
� �
� �
�' ���� 
��� �&�
� �
 	������� &���� ��
 
��� 

���	�
� ��	 
��� ����
� �	��
��
�

�� 3

��



r4(n) = 8
∑
d|n
4�d

d.

#� ���4��
 ��
 
��� �&�
� �������
 ��� ���	 ������
	 �
� ��
G��

�� r4(n) 
(
�� �
�� J�	
 ���
�� ���� �����
� 7��� 
��
 �	��

�
 �(�
��	J� �	�
����� �
 ���&��	 �
 ��
�	����
	 0 �(����
 �
 r4d(n)�
+
 
F
�� ��
� �
 ��� ��
�	��� �
 �
�� ��������
	 �� $�
����
 θ4d ��	 �
� ��	�
� �(+��

��
�
� �

��
��	
 0 �

��
	 �
� &��
�	� ��' ���
�
� ���� �� 	
��
	� �

 $�	�
 ��	�.�����
�

#� ��	���
 ��� 
��� � �
	��� �
 �	���
	 �
 ��� �
 r4(n) &�

� �� $��� ��(�

 $�	�
 ��	�.�����

�
 ����� 2 
�� 
���
� /�
� �
 ��� ��
�	��� /
���

 � ����
�	� 

 �, � �

 ��
K
���	
 �
 !���
�K�

��� ��
�	*�
 �� �����
 �
� ��
G��

�� �
 D��	�
	 �� �
	�
 ��	�.�����
�

1
 �
�� ���	� ��	�	
 ��
� �
 ��� ��
�	�� 3

rd(n) = δd + Oε

(
n

d/2−1
2 +ε

)
�C δd 
�� �
 �(�	�	
 �
 n

d
2−1�

�%



� �� ��� �� ���
� �� ����
�� ��������

������� ��� ��- ���� f ��� ���
���� !�	�����!� �������� f(z + 1) = f(z)� �	��
 �� �

f(z) =
∑
n∈Z

cne2iπnz.

���
 cn =
∫ iα+1

iα f(z)e2iπz �z ���
 α ∈ R ���	
������

�����
�������� ; A �'�� �� $�
����
 fy(x) = f(x + iy) 
�� C∞ 
� �B��	������
 �
 R ��
� C� +��

�(��	�� ��
� ����
 ����
 �
 �� ��	�
 �
 D��	�
	

fy(x) =
∑
n∈Z

an(y) e2iπx =
∑
n∈Z

an(
z − z

2i
) e2iπ( z+z

2 ).

9���
 �� $�
����
 f 
�� 4�����	�4
� �
 �

∂f

∂z
=
∑
n∈Z

(− 1
2i

a′
n(y) + iπnan(y)) e2iπx = 0.

/�
� ���	 ���� 
� �
 �

a′
n(y) = −2πnan(y) 
� ∃cn �
� ��
 an = cne−2πny.

;�
��
f(z) =

∑
n∈Z

cne−2πny e2iπx =
∑
n∈Z

cne2iπnz


� cn = ane2πny =
∫ iy+1

iy
f(z)e2iπz �z �&
� A ��
���
��
�

� �� ��� �� 	���������� �� ����
��

������� ��� ��- �� ����
������ �� :������ �� f(x) = e−πx2
�
� f̂(ξ) = e−πξ2

.

�����
�������� ����
� g(ξ) =
∫

R e−π(x+iξ) �x� 1
 �

(g(0))2 = (
∫

R

e−πx2 �x �x)2 =
∫

R2−{0}
e−π(x2+y2) �x�y =

∫
R+

∗ ×[0,2π]

e−πρ2
ρ �ρ �θ = 1.

1	

g′(ξ) =
∫

R

∂φ(x, ξ)
∂ξ

�x =
∫

R

i
∂φ(x, ξ)

∂x
�x = 0 �&
� φ(x, ξ) = e−π(x+iξ)2 .

D�
��
�

�

f̂(ξ) =
∫

R

e−πx2
e−2iπxξ �x =

∫
R

e−π(x+iξ)2e−πξ2
�x = g(ξ)e−πξ2

= e−πξ2
.

������� ��� �5- ������ c ∈ R, y ∈ C ��	 ��� Re(y) > 0� 	� ����
������ �� :������ �� fc,y(x) =
e−π(x+c/2)2y �
� f̂c,y(ξ) = 1√

y e−πξ2/y eiπcξ.

�����
�������� #� $�
����
 fc,y 
�� .�

 0 ���	�����
�
 	����
� L
 �4�
�
�

� �
 &�	��.�
 �����

��


 �
 	��������

������� ��� �&- ���� ���� z ∈ H� θ4(
−1
2z

) = −z2 θ4(z/2).

��



�����
�������� #� $�	���
 �
 ������
 <�$� �� �"? ��


 ���	 Re(y) > 0

∑
m∈Z

e−πm2y =
1√
y

∑
m∈Z

e−πm2/y.

#
 �4�
�
�

� �
 &�	��.�
 y = −iz ��




θ(
−1
2z

) =
√−iz θ(z/2).

+� �
 	������� �(

�����

 ��� ���
�� �!"
����	�
� �� ��
�� �	�
�	����	 �����
��� # �

�� k > 2� z ∈ H� ����
�

E
(∞)
k (z) =

∑
γ∈ Γ0(4)∞\Γ0(4)

j(γ, z)−k/2 �C j(γ, z) = (cz + d)2.

#� 	����
 ���	 ����
��
 �
 ����
 ��	 Γ0(4)∞\Γ0(4) 
�� ��
 �
�� ��		
���
� 
'���
�

� 0
����
	 ��	 ���� �
� j(γ, z) �����
��� ���	 γ ∈ Γ0(4)�

1
 ���
�� �
� ��	�
� �(+��

��
�
 ��' ���	
� ���
�
� �
 H/Γ0(4) ��	 ������
 ��' &�	��.�
�
�����
�� ���� 
��
	�
� E

(pi)
k (z) �� ��	�
 �(+��

��
�
 0 �� ���
�
 pi�

������� ��� �6- �� 
���� �����

��� E
(∞)
k (z) 
�����"� �����	����� 
�� ���� 
����
� �� H�

�����
�������� 9���

2�
� ��	 
��� �
��	
��
	 �� �
��
 ���&�
� 3



��
- �� σ > 2 �	��
 ���� ���� z ∈ H 	� 
����
∑

n,m∈Z

1
|nz + m|σ 
�����"��

�����
�������� 1
 �'
 z ∈ H� :� 
'���
 �

 ��
���
�
 C �
� ��
 |nz + m| � C
√

n2 + m2� ;�
��

∑
n,m∈Z

1
|nz + m|σ � 1

C

∑
n,m∈Z

1
(n2 + m2)σ/2

.

!
��
 0 &��	 ��
 �� �
�'���
 ��	�
 ��
&
	�
� 7��� �
 �� ��K�	
 �����

� ��	 �
 �������
 �
∫
R2−K

�x�y

(x2 + y2)σ/2

�C K 
�� �
 &����
��
 ������� �
 6� 9
��
 �
���	��
 ��
&
	�
 .�

 
� �
 ������
 ��	 ������
 ��'
���	��

�
� �����	
� ��	 
'
���
�

!
&

�
� 0 �� ����
��	����
 �
 �� �	��������
� �������
� �(�.�	� ��
 z ����	��



 �� ��B
���

 $�
���

��� D� 1
 � ���	� 3

|mz + n|2 = m2zz + 2mnRe(z) + n2 � m2 − mn + n2 = |mρ − n|2.

/(��	�� �
 �
��
 �	����

�� �� ��	�

∑′ 1/|mρ− n|2k 
�� ��
&
	�

�
 
� �
 �

∑
γ∈ Γ0(4)∞\Γ0(4)

j(γ, z)−2k �
∑

n,m∈Z

′ 1
(mz + n)2k

�
∑

n,m∈Z

′ 1
(mρ − n)2k

.

#
 �A�.��

∑′ ���
��
 ��
 �� ����
 ��	�
 ��	 �
� ����

�� 
�
 
���� #� ��	�
 
�����"� ���.

��������� ��	 D�

� 



���� K �
 ������� �
 H� ��	�&�
� Γ(1) = {s1, s2, . . . , sn, . . .} 
� ����
� Un =
⋃n

i=1 siD�
#� $�����
 �(��&
	�� (Un)n∈N 	
���&	
 H ��
� K 
� �� 
'���
 n �
� ��
 K ⊂ Un� ;��	� �� C =
mini=1..n ||j(s−1

i , z)||∞,K > 0� �
 �

∀z ∈ K, E
(∞)
k (g · z) = j(g, z) E

(∞)
k (z)

��
�
||E(∞)

k (z)||∞,K � C ||E(∞)
k (z)||∞,D.

'(���)�
 ��- ��
 ���
����
 ��-�
��
���� 
��� ��
 �����
 ����	����
 �� ����
 k� �� �	�


E
(∞)
k (∞) = 2, E

(∞)
k (0) = 0, E

(∞)
k (−1/2) = 0.

�� �9�� E
(pj)
k (z) ���� � �� pj �� 
�����	� ��' �����
 ������
�

�����
�������� #� �	��������
 �6 ��


 ��
 E
(∞)
k 
�� �

 $�
����
 4�����	�4
 ��	 H� #� �	�B

�	���� �(�
&�	��
�
 ������
 �


j(γγ′, z) = j(γ′ · z)j(γ, γ′ · z).

!
��
 0 &��	 ��
 E
(∞)
k 
�� 4�����	�4
 0 �4���
 ���
�
 �
 �(�����
 �
 Γ0(4) ��	 H 3

E #� $�
����
 E
(∞)
k 
�� 4�����	�4
 0 �(�
�
�� 9
�� 	
&�

� 0 �	��&
	 ��(
��
 � �

 �����
 ���	

Im(z) → ∞� 1	� �
 �
�� ������
	 ��
 z 	
��
 ��
� �
 �����

 $�
���

��� D 8 &� ��

�� ��
&
	�

�
 
�� �
�$�	�
 ��	 D� �
�� �
	�
� �
 ����
	 0 �� �����
 �
	�
 0 �
	�
� #
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